FRQ Week 6 - version B (used 4th and 5th periods)

Instant Pot manufacturers are developing a technique for cooking chicken breast.  If the chicken breast is cooked too little, people will get sick.  If it is cooked too much, it becomes unappealing.  In each study, a cluster random sample of a case of chicken breasts (25 chicken breasts) are used, and the Instant Pot is set to high pressure for 10 minutes.  This study is repeated 20 times.

As meat cooks, many connective tissues degrade.  This means the level of cooking of the meat can be measured using force.  Each breast in the Instant Pot is measured for force to cut the meat at its thickest part, against the grain.  If force of a knife used to make a 1-inch deep cut is 1.5 pounds or higher, it indicates that the meat is raw or overcooked.  If the force is less than 1.5 pounds, then the meat is cooked correctly.  The mean force applied to chicken in an Instant Pot is 1.1 pounds with a sigma of 0.867.  What is the likelihood that mean force would be 1.5 pounds or more?

Specific questions are below other prompt.

FRQ Week 6 - version A (used 3rd period)

Instant Pot manufacturers are developing a technique for cooking chicken breast.  If the chicken breast is cooked too little, people will get sick.  If it is cooked too much, it becomes unappealing.  In each study, a cluster random sample of a case of chicken breasts (20 chicken breasts) are used, and the Instant Pot is set to high pressure for 10 minutes.  This study is repeated 30 times. 

Each breast in the Instant Pot is measured for clarity of juices from its thickest part.  This is measured based on optical absorbance, which is a percentage.  Clearest juices don’t absorb anything.  Opaque or colored juices absorb a lot.  So a chicken breast either succeeds in being cooked (no absorbance) or not (some absorbance).  The sample proportion of chicken in an Instant Pot that is no-absorbance is 90%.  You want to find out the likelihood of at least 99% of chicken being no-absorbance.

What inference test are you doing?  Be specific, including sides.
Show your check of the condition to be sure sample size is large enough for this kind of inference test.  You only have to check and conclude about this one condition. [You will continue with the inference test regardless of if the condition passes or fails.]
You are using what model for this inference test?  In the next four questions, you will fill in each of these blanks in order: __ __ ( ___, ___)
Show the calculation, with specific numbers, for the statistic named in your inference procedure.  Be sure to include the statistic variable you are solving for in your equation.
Indicate what p-value is associated with the statistic you just calculated, to the nearest 0.001.
